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WB Police Constable Prelims Exam. – Practice Set

1. (b) !£¨%ßþiyöì̃ îû ö“þy“þyþ™y!… îœy £ëûé xy!›îû …¢îû&öì„þÐ !“þ!˜
~„þ‹˜ ¢%!šþ „þ!î !Šéöìœ˜Ð !“þ!˜ !˜‹y›vþzj#˜ xyvþz!œëûyîû
xy•Äy!d„þ !Ÿ¡ìÄ !Šéöìœ˜Ð

2. (b) £z̃ ¢%!œ˜ xy!îÜñyîû „þöìîû̃  vþ. ~šþ !‹ îy!rÝþ‚Ð !“þ!˜ ~„þ‹˜
!î!ŸÜT !‰þ!„þê¢„þ ç !îKþy˜#Ð

3. (c) xy@ùÌy Ÿ£îû!Ýþ ²Ì!“þÛþy „þöìîû!Šéöìœ˜ !¢„þ¨îû öœy”#Ð !“þ!˜
!Šéöìœ˜ öœy”# î‚Ÿ#ëû ¢%œ“þy˜Ð !“þ!˜ öœy”# î‚öìŸîû ~„þ‹˜
¢šþœ Ÿy¢„þ £çëûyîû þ™yŸyþ™y!Ÿ ~„þ‹˜ šþyîû!¢ „þ!îç
!Šéöìœ˜Ð

4. (b) ò=îû&›%…#ó ¦þy¡ìyîû ²Ì‰þœ˜þ „þöìîû!Šéöìœ˜ !m“þ#ëû !Ÿ…=îû& =îû&
xD”Ð =îû& ˜y˜„þ îû!‰þ“þ öhßþye=!œ ¢‚„þœöì”îû þ™yŸyþ™y!Ÿ
!“þ!˜ 62!Ýþ öhßþye îû‰þ˜yç „þöìîûöìŠé˜Ð

5. (a) „þÄy† (CAG)-„þyëÅöìÇþöìe xy!ÝÅþ!šþ!¢ëûyœ £zöìrÝþ!œöì‹ªöì„þþ
„þyöì‹ œy†yöì̃ yîû ‹˜Ä ¢Á±!“þ xy£zxy£z!Ýþ !”!ÍÔóîû ¢öìD ›vþz
ßþºyÇþîû „þöìîûöìŠéÐ

6. (c) xy£öì›”yîy” Ÿ£îû!Ýþ ¢îîû›“þ# ˜”#îû “þ#öìîû †öìvþü vþzöìàþöìŠÐ
7. (d) ¦þyîûöì“þîû îûyÜTÉþ™!“þöì„þ þ™îûy›ŸÅ ²Ì”y˜ „þîûöì“þ þ™yöìîû̃  ¦þyîûöì“þîû

²Ì•y˜›sþf#Ð ²Ì•y˜›sþf# £öìœ˜ ¦þyîûöì“þîû ²Ì„,þ“þ ²ÌŸy¢!˜„þ ²Ì•y˜
~î‚ !“þ!˜ îûyÜTÉþ™!“þîû þ™îûy›ŸÅ ö›öì̃  „þy‹ „þöìîû̃ Ð

8. (b) ö„þy›y†y“þy›yîû&ó ‡Ýþ˜y!Ýþ 1914 ¢yöìœîû 23 ö› ¢‚†!àþ“þ
£öìëû!ŠéœÐ

9. (c) !˜Á¬!œ!…“þ 180° oy!‡›yöìîû…yöì„þ xyhsþ‹Åy!“þ„þ “þy!îû…
!î¦þy!‹„þy îy öîû…y îœy £ëûÐ

10. (d) ²ÌöìÙÀ vþz!ÍÔ!…“þ 2023 ¢yöìœîû ¢îûßþº“þ# ¢Á¿yöì̃  ¦)þ!¡ì“þ £öìœ˜
!î!ŸÜT ›yœëûyœ› „þ!î ç öœ…„þ ²Ì¦þy ¦þy›ÅyÐ “¤þyîû öœ…y
òöîûïo ¢y!_́„þ›ó  ˜y›„þ „þyîÄ@ùÌöìsþiîû ‹˜Ä !“þ!˜ ~£z þ™%îûßþñyöìîû
¦)þ!¡ì“þ £öìœ˜Ð

11. (d) ò!£öì“þyþ™öì”Ÿó îû‰þ˜y „þöìîû!Šéöìœ˜ !î¡%ŒŸ›ÅyÐ !“þ!˜ !Šéöìœ˜
~„þ‹˜ !„þ‚î”hsþ# öœ…„þ ç !î”?þ þ™![þ“þÐ

12. (b) 36“þ› ¢‚!î•y˜ ¢‚öìŸy•˜# x˜%ëyëû# 1975 ¢yöìœ !¢!„þ›
¦þyîûöì“þîû xDîûyöì‹Ä þ™!îû’“þ £öìëû!ŠéœéÐ

13.  (c) 1026 ¢yöìœ †‹˜#îû ¢%œ“þy˜ ¢%œ“þy˜ ›y›%” ö¢y›˜yí
›!¨îû •¹‚¢ „þöìîû!Šéöìœ˜ ~î‚ ç…y˜ öíöì„þ ›)œÄîy˜ îûb ç
¢Á™!_ œ%àþ „þöìîû !˜öìëû !†öìëû!Šéöìœ˜Ð

14. (a) òöî“þyœ þ™Mþé!î‚Ÿ!“þóéôéîû îû‰þ!ëû“þy £öìœ˜ {Ù»îû‰þw !î”Äy¢y†îûÐ
!“þ!˜ ”#‡Å!”˜ xyöì̈ yœ˜ „þîûyîû þ™îû 1856 ¢yöìœ !î•îyöì”îû
þ™%̃ îûyëû !îîy£ ‰þyœ% „þîûöì“þ ¢›íÅ £öìëû!Šéöìœ˜Ð

15. (c) ¢Á±!“þ ²Ìyöìîyç ¢%!îëûyöìhsþy ö”yöì‹y£y!”„%þ¢%öì›y £zöì̈ yöì̃ !Ÿëûyóîû
ö²Ì!¢öìvþrÝþ !£¢yöìî !˜îÅy!‰þ“þ £öìœ˜Ð !“þ!˜ ~£zîyöìîûîû !˜îÅy‰þöì̃
58.6 Ÿ“þy‚Ÿ ö¦þyÝþ öþ™öìëûöìŠé˜Ð

Answer with Explanation

16. (d) !£›îyöì£îû Çþëû„þyöìëÅîû šþöìœ G%þœhsþ vþzþ™“þÄ„þy ¢,!ÜT £ëûÐ x˜Äy˜Ä
¦)þ!›îû*þ™=!œ £œéôé¢y„Åþ îy „þ!îû– £zvþz xy„,þ!“þ vþzþ™“þÄ„þy– îûöì¢
ö›y“þyöì̃ ²Ì¦,þ!“þÐ

17. (b) †yõþ#!‹ 1916 ¢yöìœ ¢îîû›“þ# xy×› ²Ì!“þÛþy „þöìîû!Šéöìœ˜Ð
!“þ!˜ !Šéöìœ˜ ¦þyîûöì“þîû ßþºy•#˜“þy ¢‚@ùÌyöì›îû ~„þ‹˜ !î!ŸÜT
ö˜“þyÐ “¤þyîû ö˜“,þöìc ¦þyîûöì“þ x!£‚¢éôéx¢£öìëy† xyöì̈ yœ˜–
xy£z̃  x›y˜Ä xyöì̈ yœ˜– ¦þyîû“þ Šéyöìvþüy xyöì̈ yœ˜ ¢‚†!àþ“þ
£öìëû!ŠéœÐ

18. (a) ›sþi„)þþ™ ö”…y ëyëûé ˜”#îû vþzF‰þ†!“þöì“þÐ ˜”#îû vþzF‰þ†!“þöì“þ ¢,ÜT
x˜yÄ˜Ä ¦)þ!›îû*þ™=!œ £œéôôé xy£z xy„,þ!“þ vþzþ™“þÄ„þy– ‹œ²Ìþ™y“þ
²Ì¦,þ!“þÐ

19. (b) þ™Á™y¢ “,þ’¦)þ!› ö”…y ëyëûé ”!Çþ’ xyöì›!îû„þyëûÐ !îöìÙ» x˜Äy˜Ä
‹yëû†yëû “,þ’¦)þ!›=!œ öë öë ˜yöì› þ™!îû!‰þ“þ “þy £œéôôôé
þ™)îÅ xy!šÊþ„þyéôôôé¢y¦þy˜y
„þÄyöìÁ™y¢ééôôôé îÊy!‹œ
œÄyöì˜y¢éôôôé ö¦þöì̃ ‹%öìëûœy
ö²Ì£z!îûéôôôé xyöì›!îû„þy
öÞÝþþ™¢éôôôé ~!Ÿëûy

20. (b) 21 ›y‰Åþ ¢yîûy !îÙ»‹%öìvþü çëûyÓÅþ öþ™yöìëû!ÝþÆ övþ þ™y!œ“þ £œ–
ëyîû ~îŠéöìîûîû !í› £œéôé'Standing on the Shoulders
of Giants'.

21. (b) òö˜£îû& !îûöìþ™yÝÅþó 1928 ¢yöìœ öþ™Ÿ „þîûy £öìëû!ŠéœÐ ›!“þœyœ
ö˜£îû&îû ö˜“,þöìc „þ‚öì@ùÌ¢ ~£z ²Ìhßþyî!Ýþ vþzayþ™˜ „þöìîû!ŠéœÐ
”%£z‹˜ ›%¢!œ› ~î‚ x˜Äy˜Ä ö›yÝþ 9 ‹˜ ~£z „þ!›!Ýþöì“þ
¢”¢Ä !ŠéœÐ

22. (d) šþ˜ £œ ~„þ²Ì„þyîû vþz¡Œ ç xyoÅ îyëû%Ð
23. (c) !˜Á¬!œ!…“þ xyöìÝÅþ!›!Ÿëûy ˜y›„þ  †yöìŠéîû þ™%Ü™þ™öìe öîû‰þ˜ þ™”yíÅ

¢!Mþé“þ íyöì„Ð
24. (d) !Ÿ…öì”îû öŸ¡ì “þíy ”Ÿ› =îû& !Šéöìœ˜ =îû& ö†y!î¨ !¢‚Ð

!“þ!˜ ›ye 9 îŠéîû îëûöì¢ 1675 ¢yöìœ !þ™“þy =îû& ö“þ†
îy£y”%öìîûîû ßþiœy!¦þ!¡ì_« £˜Ð !“þ!˜ !Ÿ… ‹y!“þîû ö˜“þy– öëykþy–
„þ!î ç ”yŸÅ!˜„þ !Šéöìœ˜Ð

25. (a) ¢Á±!“þ ¦þyîûöì“þîû ²Ìí›  îûy‹Ä !£¢yöìî îûy‹ßþiy˜ òöÞÝþÝþ
çëûyÝþyîû !îûöì¢y¢Å £z̃ šþöì›ÅŸ˜ !¢öìÞÝþ› vþÄyŸöìîyvÅþó ‰þyœ% „þöìîûöìŠéÐ

26. (c) really will replace real because –
really (Adv.) is used for emphasizing an
Adjective/Adverb
Look at the examples given below :
She was driving really fast.
I am really sorry.
Hence, really good is the right usage.

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å
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27. (c) higher (Adv.)
the (Indef. Art.) is used in the Comparative
Degree with Adverbs.
The structure is as follows :
the + Comparative Expression + Subject +

 
greater demand

Verb + the + Comparative Expression

higher

Hence, the higher is the right usage.
28. (a) prefer (Verb) : to like one thing or person

better than another
A Prepositional Phrase with to will be used.
Hence, riding to walking is the right usage.

29. (b) would will replace will because –
in Indirect speech will changes into would as
in –
She said, “I will teach you English.” (D.S.)
She said that she would teach me English.
(I.S.)
Hence, that he would never is the right usage.

30. (a) English is spoken all over the world. (Passive)
The sentence is in Simple Present Tense.
(Active)

31. (c) rely on (Phr. V.): to depend on
Here, relies is the right usage.

32. (b) and (Conj.) : also; in addition to.
Here, and is the right usage.

33. (b) destroyed (Verb) : to damage something very
badly
decimated (Verb) : to severely damage
something or make something weaker
denounced (Verb) : to strongly criticize
somebody/something that you think is wrong,
illegal, etc.
successful (Verb) : achieving your aims or
what was intended
depressed (Verb) : very sad and without hope

34. (b) genetics
genetics (N.) : the scientific study of the ways
in which different characteristics are passed
from each generation of living things to the
next
hereditary (Adj.) : given to a child by its
parents before it is born
genesis (N.) :  the beginning/origin of
something
inheritance (N.) : the money, property, etc.
that you receive from somebody when he dies

35. (d) quell (Verb) : to stop violent behaviour or
protests
foment (Verb) : incite; to create trouble/
violence/make it worse
repulse (Verb) : repel; to  make somebody
feel disgust/a strong dislike
cease (Verb) : to stop happening/existing
control (Verb) : to limit; to have power over
a person, company, country etc.

36. (d)

R P Q S T

37. (b) Sharp Shock Snooker Socks Sound

d c e b a

38. (b) 1 5 9 17 25 37 49

+4 +4 +8 +8 +12 +12
+0 +4 +0 +4 +0

39. (a)
N E T 1 3 2 2  7   :: Y A M 2 2 6  1 4

40. (d) T E M P O R A L

O L D S M B S P

–1 +1

C O N S I D E R
–1 +1

R M N B S F E J

41. (b)

42. (a) !‰þ£«=!œ þ™!îûî“Åþöì̃ îû þ™îû !‰þ£«=!œ £öìîéôôôé
15 × 12 + 900 ÷ 90 – 100
 15 × 12 + 10 – 100
 180 + 10 – 100
 190 – 100 = 90

43. (b)

G I
J

H
K

F E D

C

BA

!‰þöìe ö›yÝþ 19!Ýþ !e¦%þ‹ îûöìëûöìŠéÐ ö¢=!œ £œéôô GIJ, HJG,
HEF, CDK, KED, AJB, AFJ, IGH, CGK, EGK,
EDC, AFJ, BDJ, ABF, CEG, ADF, ABD, BDF,
BCI.

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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44. (c)

T S

U

R

P
Q

20 !›Ýþyîû

60
!›

Ýþy
îû

50
!›

Ýþy
îû 20 !›Ýþyîû

30 !›Ýþyîû

45. (b)

0×1+1
0 1

4×3+3 64×5+5
4 6415 325 1956

1×2+2 15×4+4 325×6+6

46. (d) 17 × 17 = 289  289   5
18 × 18 = 324  324   5
19 × 19 = 361  361   5
23 × 23 = 529  529   5





47. (d) 14 ÷ 2 = 7
24 ÷ 4 = 6
64 ÷ 2 = 32
12 ÷ 4 = 3
32 ÷ 2 = 16
18 ÷ 4 = 4.5

7 × 6 = 42

32 × 3 = 96

16 × 4.5 = 72

48. (c)

›Äyöì̃ ‹yîû
 öŠéöìœ
ë%î„þ

49. (c) Men

Father Engineer

50. (b)

51. (c)

52. (a)

53. (b) xöìŸy„þ £œ †#“þyîû þ™%eÐ
54. (a) îy!„þ ¢„þöìœ£z !î¦þy†#ëû ²Ì•y˜Ð
55. (a) adbc/adbc/adbc/adbc/adbc

56. (b)

57. (c) !˜Á¬!œ!…“þ !‰þöìe 24!Ýþ î†ÅöìÇþe îûöìëûöìŠéÐ

A B C D E

K J I H G

M N O P

Q R S

T U V W

L F

TQUJ, ROSV, PFWS, BCRQ, SFGH, LQJK,
RDFH, CEGI, BMQN, RNQU, URVI, SWHV,
CDSR, RSHI, LBRJ, ACIK, LMQT, NCOR,
ODPS, ABQL, DEFS, QRIJ, QCSI and BDHJ.

58. (d)

59. (c) C ~î‚ B ~îû ›yGþ…yöì̃  !“þ˜‹˜ îyœ„þ îûöìëûöìŠéÐ

B E G A C F D
60. (c) xþ™Ÿ˜ (c) Šéyvþüy ¢›hßþ xþ™Ÿ˜=!œ ~öì„þ xþ™öìîûîû ¢öìD

¢Á™„Åþë%_«Ð

61. (b) 380 188 92 44 20 8 2

÷2–2 ÷2–2 ÷2–2 ÷2–2 ÷2–2 ÷2–2

62. (b) 11) 1235 (112
      1232
            3

1235éôéö„þ 11 myîûy ¦þy† „þîûöìœ– ¦þy†šþœ = 112, ¦þy†öìŸ¡
= 3

~…˜ 1235 öíöì„þ 3 !îöìëûy† „þîûöìœ xíîy 1235éôé~îû
¢öìD (11–3) = 8
öëy† „þîûöìœ ¢‚…Äy ”%!Ýþ 11 myîûy !î¦þy‹Ä £öìîÐ
 é1235ôé~îû !˜„þÝþî“Åþ# ¢‚…Äy!Ýþ = 1235 – 3 = 1232

63. (b) ²Ì”_ îûy!Ÿ›yœy 4 1 4 5
1 (5) 1

3 62 22 2
9 9
2

     
 

4 5 4 5
1 1

2 6 22 22
3 3

     




4 3 5 3 5 5 5
1 1 0

8 2 2 2 2 2


        

64. (a) ¢‚…Äy!Ýþîû
11 7

7 11
  
 

 x‚Ÿ = 144

¢‚…Äy!Ýþ
144 144

11 7 121 49
7 11 77

 
      

   

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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144 77
154

72


 

65. (c)
27 18 9

2.7 , 1.8 , 0.9 ;
10 10 10
  

~öìÇþöìe– !˜öì’Åëû ”)îûc £öìî ²Ì”_ ”)îûc=!œîû œ¢y=

~…˜– 27 18
,

10 10
 ç é 9

10
ôé~îû œ¢y=

27, 18, 9
10, 10, 10ôé~îû †¢y=

ôé~îû œ¢y=
=

54
5.4

10
 

xíÅyê– 5.4 !›Ýþyîû ”)îûc ‰þy„þy=!œ þ™)’Å¢‚…Ä„þîyîû xyî“Åþ˜
„þîûöìîÐ

66. (b) ¦þ@Ày‚Ÿ!Ýþ
5

,
8

„þyîû’ 5 8 13 (i)  ~î‚
5 4 9 1

8 10 18 2


 


(ii)

67. (c) ²Ì”_ îûy!Ÿ›yœy

2 1 3 2 4 3 10 9
...

1 2 2 3 3 4 9 10

   
    
   

1 1 1 1 1 1 1 1
...

1 2 2 3 3 4 9 10
        

1 9
1 0.9

10 10
   

68. (a) •îûy ëy„þ– A þ™yëû = x Ýþy„þyÐ  B þ™yëû = (x + 5) Ýþy„þy
ç C þ™yëû [2(x + 5) + 12] Ýþy„þy = (2x + 22) Ýþy„þy

~öìÇþöìe– x (x 5) (2x 22) 91      îy– x = 16

 A, B ç Céôé~îû ²Ìy® Ýþy„þyîû x˜%þ™y“þ

x : (x 5) : (2x 22) 16 : 21: 54   

69. (b) C þ™yëû ö›yÝþ œyöì¦þîû
1 1

1
3 4

   
 

 x‚Ÿ
5

12
  x‚ŸÐ

 ö›yÝþ œyöì¦þîû
5

12
 x‚Ÿ = 5000 Ýþy„þy

 ö›yÝþ œy¦þ
12

5000
5

   
 

 Ýþy„þy = 12000 Ýþy„þyÐ

 A þ™yëû
1

12000
3

   
 

 Ýþy„þy = 4000 Ýþy„þyÐ

70. (d) îy!¡ìÅ„þ þ™îû#Çþyîû ˜Áºîû = 4!Ýþ þ™îû#Çþyîû †vþü + †vþü î,!kþ ×
(4 + 1)
 35 + (40 – 35) × 5
= 35 + 5 × 5

= 35 + 25 = 60

71. (b) „þ›ÅÇþ›“þy x˜%ëyëû# ç£z „þy‹!Ýþ 1 !”öì˜ „þöìîû ëíye«öì›
(9 × 360) ‹˜ !ŸÖ (C), (18 × 72) ‹˜ öœy„þ (M)
~î‚ (12 × 162) ‹˜ ›!£œy (W)Ð
~öìÇþöìe– „þ›ÅÇþ›“þy x˜%ëyëû#–

(9 360)C (18 72)M (12 162)W    

îy– 5C 2M 3W 

~…˜– 4M 12W 10C 4M 8M 4M    

[ 12W 8M  ~î‚ 10C 4M] 16M 

~…˜– 18M „þy‹!Ýþ „þöìîû = 72 !”öì̃

 16M „þy‹!Ýþ „þöìîû
72 18

16

  
 

 !”öì̃ = 81 !”öì̃ Ð

 4 ‹˜ öœy„þ– 12 ‹˜ ›!£œy ç 10 ‹˜ !ŸÖ „þy‹!Ýþ
81 !”öì̃  öŸ¡ì „þîûöìîÐ

72. (a) ²Ì!“þ !›!˜öìÝþ þ™)’Å £ëû ö‰þïîyF‰þy!Ýþîû 1

20
 x‚ŸÐ

²Ì!“þ !›!˜öìÝþ
1

6
 x‚Ÿ ‹œ öî!îûöìëû ö†öìœ– ²Ì!“þ !›!˜öìÝþ

ö‰þïîyF‰þyëû ‹œ ‹›y £ëû ö‰þïîyF‰þy!Ýþîû
1 1

1
20 6
   
 

 x‚Ÿ

1 5

20 6
   
 

 x‚Ÿ
1

24
  x‚ŸÐ

 ö‰þïîyF‰þy!Ýþ þ™)’Å £öì“þ ¢›ëû œy†öìî = 24 !›!˜ÝþÐ
73. (b) ëyçëûyîû ¢›ëû 40 !„þ!› x!“þe«› „þîûöì“þ ¢›ëû œyöì†

40

10
   
 

 ‡ ù̂Ýþy = 4 ‡ ù̂Ýþy

öëöì£“%þ ëyeyþ™öìí ö›yÝþ ¢›ëû œyöì† 6 ‡ ù̂Ýþy ¢%“þîûy‚– !šþöìîû
xy¢yîû ¢›ëû 40 !„þ!› x!“þe«› „þîûöì“þ ¢›ëû œyöì†
= (6 – 4) ‡ ù̂Ýþy = 2 ‡ ù̂ÝþyÐ
 !šþöìîû xy¢yîû ¢›ëû †!“þöìî†

40

2
   
 

 !„þ!›/‡ ù̂Ýþy = 20 !„þ!›/‡ ù̂ÝþyÐ

74. (d) öÝþÆ̃ !Ýþ 10 ö¢öì„þöìuþ x!“þe«› „þöìîû = 250 !›ÝþyîûÐ

 öÝþÆ̃ !Ýþîû xyöìþ™!Çþ„þ †!“þöìî†
250

10
   
 

 !›Ýþyîû/ö¢öì„þuþ

18
25

5
   
 

 !„þ!›/‡ ù̂Ýþy = 90 !„þ!›/‡ ù̂ÝþyÐ

~…˜– öÝþÆöì̃ îû !˜‹ßþº öî† + îÄ!_«îû öî† = 90 !„þ!›/‡ ù̂ÝþyÐ
 öÝþÆöì̃ îû !˜‹ßþº öî† = (90 – 4) !„þ!›/‡ ù̂Ýþy = 86
!„þ!›/‡ ù̂ÝþyÐ
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5Achievers
75. (a) •îûy ëy„þ– ößþËyöì“þîû öî† = x !„þ!›/‡ ù̂ÝþyÐ

 ößþËyöì“þîû x˜%„)þöìœ ö˜ï„þy!Ýþîû öî† = (12 + x) !„þ!›/
‡ ù̂Ýþy
~î‚ ößþËyöì“þîû ²Ì!“þ„)þöìœ ö˜ï„þy!Ýþîû öî† = (12 – x) !„þ!›/
‡ ù̂ÝþyÐ
öëöì£“%þ ”)îûc !ßþiîû íy„þöìœ ¢›öìëûîû ¢öìD †!“þöìîöì†îû ¢Á™„Åþ
îÄhßþy %̃þ™y!“þ„þ–
¢%“þîûy‚– x˜%„)þöìœ öî† = 2 × ²Ì!“þ„)þöìœ öî†Ð

12 x 2(12 x)     îy– 12 x 24 2x  

îy– 3x 12  îy– x = 4

 ößþËyöì“þîû öî† = 4 !„þ!›/‡ ù̂ÝþyÐ
76. (a) •îûy ëy„þ– xyëû 100x Ýþy„þyÐ

¢Mþéëû = 10x Ýþy„þy ~î‚ îÄëû = 90x Ýþy„þyÐ

xyëû
1

12 %
2

 îyvþüöìœ î“Åþ›y˜ xyëû

25
100x 1

2 100
    

 Ýþy„þy = 112.5x Ýþy„þyÐ

î“Åþ›yöì̃ ç ¢Mþéëû 10x Ýþy„þy £öìœ– î“Åþ›yöì̃  îÄëû = 102.5x
Ýþy„þyÐ

 îÄëû î,!kþîû £yîû
îÄëû î,!kþ

²Ìyí!›„þ îÄëû
= × 100 %

102.5x 90x 8
100 % 13 %

90x 9

     

77. (d) •îûy ëy„þ– oîÄ!Ýþîû e«ëû›)œÄ = 500x Ýþy„þy

3

5


  ç

2

5
éôé~îû £îû 5





3

5
 x‚öìŸ œy¦þ

3 15
500x

5 100
     

 Ýþy„þy

= 45x Ýþy„þyÐ

2

5
 x‚öìŸ Çþ!“þ

2 10
500x

5 100
     

 Ýþy„þy

= 20x Ýþy„þyÐ

²ÌÙÀy˜%¢yöìîû– 45x 20x 32   îy–
32

x
25


îy– 500x 640
 oîÄ!Ýþîû e«ëû›)œÄ = 640 Ýþy„þyÐ

78. (d) dI 100
5000

[8 4 10 5]



  

dI 50 | 32 50 | 50 | 18 |       Ýþy„þy = 900 Ýþy„þyÐ
 ¢%öì”îû þ™yíÅ„þÄ 900 Ýþy„þyÐ

79. (a) ~öìÇþöìe– P = 30000 Ýþy„þy– n = 9 ›y¢
3

4
  îŠéîû–

¢%öì”îû þ™îÅ = 4, r = B

 ¢%”éôéxy¢œ
4n

r
A P 1

400
    
 

3
4

48
30000 1

400


    

 Ýþy„þy

3
51

30000
50
   
 

 Ýþy„þy = 31836.24 Ýþy„þyÐ

¢%” = (31836.24 – 30000) Ýþy„þy = 1836.24 Ýþy„þyÐ

80. (b) ²Ìí› ²Ì„þyîû
8 Ýþy„þy/ö„þ!‹

!m“þ#ëû ²Ì„þyîû
þ12 Ýþy„þy/ö„þ!‹

˜“%þ˜ !›×’
10 Ýþy„þy/ö„þ!‹

(12 – 10) = 2 (10 – 8) = 2

²Ìí› ²Ì„þyîû ç !m“þ#ëû ²Ì„þyîû ˜%öì̃ îû x˜%þ™y“þ
= 2 : 2 = 1 : 1

 ²Ì!“þ ²Ì„þyîû ˜%̃ 50 ö„þ!‹ „þöìîû ö›Ÿyöì̃ y £öìëû!ŠéœÐ

81. (a) îûyhßþy!Ýþ W !›Ýþyîû ‰þçvþüy £öìœ– W(L B W) 46  

îy– W(20 5 W) 46  

îy–
2

W 25W 46 0  

îy– (W 23)(W 2) 0  

îy– W 2 [ W 23] 
 îûyhßþy!Ýþ 2 !›Ýþyîû ‰þçvþüyÐ

82. (a) îy†yöì̃ îû ²Ì!“þ!Ýþ îyý = 625  !›Ýþyîû = 25 !›ÝþyîûÐ
îûyhßþy Šéyvþüy îy†yöì̃ îû öÇþöìešþœ = (625 – 184) î†Å!›Ýþyîû
= 441 î†Å!›Ýþyîû
îûyhßþy Šéyvþüy îy†yöì̃ îû ²Ì!“þ!Ýþ îyý = 441 !›Ýþyîû = 21 !›Ýþyîû
”%þ™yöìŸ ö›yÝþ Šéyvþü = (25 – 21) !›Ýþyîû = 4 !›Ýþyîû

 îûyhßþy!Ýþ ‰þçvþüy
4

2
  !›Ýþyîû = 2 !›ÝþyîûÐ

83. (b) þ™!îû¢#›y a 2( 2 1) 2 2( 2 1)     îy– a = 2

öÇþešþœ
21

a
2
  î†Åöì¢!›

21
(2)

2
  î†Åöì¢!› = 2 î†Åöì¢!›Ð
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xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 1  ö›– 20246

84. (d)

7 ö¢!› 7/2 ö¢!›

14 ö¢!› þ

î†Åy„þyîû þ™yöì“þîû öÇþešþœ = (14)2 î†Åöì¢!›
= 196 î†Åöì¢!›Ð
²Ì!“þ!Ýþ î,_y„þyîû þ™yöì“þîû îÄy¢ = 7 ö¢!›Ð

 îÄy¢y•Å 7

2
  ö¢!›Ð

 ‰þyîû!Ýþ î,_y„þyîû þ™yöì“þîû ö›yÝþ öÇþešþœ

= 4 × ²Ì!“þ!Ýþîû öÇþešþœ
2

7
4

2
   
 

 î†Åöì¢!›

= 154 î†Åöì¢!›Ð
 îy!„þ þ™yöì“þîû öÇþešþœ = (196 – 154) î†Åöì¢!›
= 42 î†Åöì¢!›Ð

85. (d) þ!Ýþöì̃ îû ¢‚…Äy
xyëû“þ‡˜ ÝþÄyöìBþîû xyëû“þ˜

²Ì!“þ !Ýþöì̃ îû xyëû“þ˜
=

315 120 72
135

24 24 35

 
 

 
[²Ì!“þ!Ýþ ÷”‡ÅÄ ö¢!› ~„þöì„þ ö˜çëûy £öìëûöìŠé]

——————
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